a(6 @) (rad)

i
S
w

[—— DQW_orignal_stepZ_Tibar-phaseI-Newgeom
M_pixelCPETemplate_step2_ttbar-phasel-newgeom
M_pixelCPETemplateCutChiSquarel5_step2_tt ar-ﬂhasel-newgeom
M_pixelCPETemplateCutChiSquare5_step2_ttbar-p

1 2 3
TP n (PCA to beamline)

~1072

a(d cot(B)

1073

-3 -2 -1 0 1 2 3
TP n (PCA to beamline)

asel-newgeom_test

aoa, ) (cm)

1072

1 2

TP n (PCA to beamline)

Ratio

12

TP n (PCA to beamline)

z

o(d d.) (cm)

1072E

=3 -2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


